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The diagram above shows the fate of pyruvate in metabolism.

a) In the conversion of pyruvate to ethanol, describe the types of reaction that take place and
how they occur.

b) What kind of reaction is the conversion of pyruvate to lactate?
c) Acetyl CoA can be derived from pyruvate and is an important molecule in many

pathways. How does this molecule help balance the metabolism of carbohydrates and fat? [10
marks]

The types of reaction that take place are:-—
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(a) What type of lever system is shown in the diagram above? (2 marks)

(b) What is the main advantage of this type of lever for movement in the human musculoskeletal system?
(2 marks)

(c) What is the main disadvantage of this type of lever? (1 mark)
(d) What arm muscle is illustrated in the diagram? (1 mark)
(d) A myofibril in this muscle measures 120 mm in length at rest, at which point the average sarcomere

length is 2.4 um. The myofibril shortens to 96 mm during an isotonic contraction. How many sarcomeres
does the myofibril contain (2 marks) and what is their average length at peak contraction (2 marks)?
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